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Formula List

Area of trapezium = %-(a + b)h

Volume of prism = area of cross-section x length
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Alice buys 3 packets of biscuits at £1.35 each and 2 bars of muesli at 56p each.
How much is this altogether?

(185-08)

(b)

John and his two brothers go to town on the bus.
John pays for the 3 tickets with a £5 note.

Each ticket costs 93p.

How much change should he receive?
Ve L S

(3]
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2. (a) Draw acircle around each of the following fractions which is NOT equal to % .

ot

Gl
Rl

2]
(b) Shade 25% of the following figure.

[1]
(¢) (1) What fraction of the following shape is shaded?
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3. Megan weighs her guinea pig and her kitten using a spring balance.

5 ™ 4 ™
Ogr— Ogr —
100g 100g
300 300g -
— — guinea pig
400g = — 400g -
o =

(i) Write down the weight of her kitten.

(i) How much heavier is the guinea pig than the kitten?

........... ' Y
d "

)

(18s-sy Torn over.
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4.

(a) Write down the names of each of the following figures.

/

/
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(b)

(@)

(if)

In the diagram below, draw a line through the point A that is parallel to the given line.

Draw ali the lines of symmetry on the following shape.

(3]

Torn over.
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5. The formula for the cost of getting a person to do repairs is
Cost = Number of hours x £25 + Call Out Charge

(a) Find the Cost when the Number of hours is 5 and the Call Out Charge is £50.

(b) Find the Call Out Charge, when the Cost 1s £240 and the Number of hours is 8.
X?—g)'i“k
e AN = ROV = X

6. Describe in words the rule for continning each of the following sequences.
=l

(a) 50, 45, 40 5

. , 35,
Rule: “"SSKL!O

(b)
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The electricity meter readings at the beginning and the end of a period were:

Reading at the end of the period 6

Reading at the beginning of the period 6

The cost of the electricity is 13p per unit.
There is also a fixed charge of £22.25.

Complete the following table to find the total cost.

Reading at the end of the period 6675
Reading at the beginning of the period 6543
Number of units used ‘ 32
Cost of the units in £8+43 % {320 £17-e

Fixed charge

Total cost

Turn over.
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only




10

8. Bryn carries out a survey to find out which of Rugby, Hockey, Cricket or Football each of 144

students preferred.
He uses the data obtained to draw the following pie chart,

Football

(a) Whatfraction of the students answered ‘Hockey’? .

ol

(b) How many of the students answered ‘Football’?

. b O A& T
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9. (a) Complete an accurate drawing of triangle ABC in which AB = 6 cm, angle BAC = 124° and
angle ABC = 36°.
The side AB has been drawn for you.

[3]

(b) Write down the special name given to an angle which is greater than 180° and less than
360°. '

(185-08) ' Turn over.
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10.

above sea level

sea level

below sea level

-180m

=130 m

The diagram illustrates a mountain that is partly above sea level and partly below sea level.

The point A is 500 m above sea level.
The point C'is 100 m below sea level and its height is shown as —100m on the diagram.

{a} On the diagram
(1) mark a point X that is 100 m above sea level,

(if) mark a point ¥ that is 50 m below sea level.

(b) How much higher is the point B than the point C?

2]
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{c) The point E is 40m below the level of D.
Write down its height above sea level.

Turn over.
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11.

The above picture shows a man standing between two buildings.

Write ddwn an estimate for the actual height of the man. é t '

Using this estimate for the height of the man, estimate the actual distance between the two
buildings.

You must show all your working.

+185-08)




15

12. (a) Simplify 4c¢ +2c+ 3c.
__________________________ ac
[1]
(b} Solve each of the following eqnations.
(i} 3x=15
~ =
i) y+7=13
.............................. B3
3 ............................................................................................................................ 5
{c) Usethe formula R=3V+2T tofind VwhenR=40and I'=5
........................................................... WO=3V TI1O
20=3V
LO Z Mo
......................................................................................................................................................................... [3]
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13. The price of a memory stick depends on its size and the number bought.
The table below shows the price of one memory stick of each size depending on the number

bought.
Number of memory sticks bought
1-2 3-5 6 or more
1GB memory stick £3.49 each £299each | £2.49each
2GB memory stick £4 95 each £4.49 each | £3.99 each
4GB memory stick £8.95 each £7.99 each | £7.49each
(a) Calculate the total cost of buying eight 4GB giemory sticks

RO < 9 - Gl ke 1A SN

(b) How much cheaper would it be to buy five 2GB memorysticks altogether, than to buy them
one at a time?

{185-08)
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14. Forty unrelated girls are asked how many brothers they have.

The results are summarised in the following table.

Number of brothers

Frequency

10

19

(a) What is the probability that a randomly chosen girl from this group has at least 2 brothers?

Pt ket 2)

i

40

(b) How many brothers did these girls have altogether?

{185-08)
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15. (a) In an opinion poll 84 people out of the 125 questioned said they preferred a certain
candidate.
What percentage is this?

(c) The total cost of 1-5kg of bananas and 0- 6kg of grapes is £3.99.
Bananas cost £1.24 per kg. ‘
Find the cost of 1kg of the grapes.

(185-08)
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(a) Below is a section of a map.

Scale: 1cm represents 0-25km.

Find the actual distance, in km, from A to B.

(b}  Plot the point C which is 2% km from A on a bearing of 048°.

&é km = jOam

Turn over.
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17. In the diagram below, ABCD is a rectangle.

il

4 70 B
20°
[
b~
R{®) 20
G D C
Diagram not drawn to scale.
Explain why triangle EFG is isosceles.
20 +90..=.110 x = 1o
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18. The diagram shows a quadrilateral.
The lengths of the sides are all given in centimetres.

= hx i1 "

(b} (i) The perimeter of the quadrilateral is 40 cm.
Wiite down an equation in terms of x.

(it}  Solve the equation.

.................................................................. x =1
(2]
(c) Write down the lengths of the four sides of the quadrilateral.
h_? y q i O i - LS5 ST
[1]
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19. In a science experiment, values of x and y are recorded to look for a relationship. The table below
shows the results.

(185-08}

X 20 50 10 40

30

y 8 30 4 24

14

(a)

(b)

(d)

On the grid below, draw a scatter diagram to show these results.

A Y
40
30 : 23
! ol
20 : ;
:
10 A
- i
0 - :
0 16 20 30 40 50 x
[2]
The mean of the x values is 30.
(i) Calculate the mean of the y values. -
e BEROEAAN = M
.......................................... S
(1) Draw the line of best fit on your scatter diagram.
[4]
Which type of correlation does your scatter diagram show?
’ &~
........................................................... Vosvewe
(1]
Write down an approximate value for y when x is 33.
...................................................................................... 22
1]
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20. {(a) Factorise 4x-—6. -
............................................................ 2(x=3)
(1]
(b) Make r the subject of the formula m =% +4.
................................................................... m ‘({:’ reeeen e erer §oreeee et 581 8 e SRR
(2]
(c) Solve the inequality 6x>2x+ 9.
.................................................................. Cox~22 7 9.
e ST S
..................... X 2.3/
(2]
21. A triangular shaped spinner has the numbers 1,2 and 3 written on its three equal sections.
A square shaped spinner has the humbers 1, 2, 3 and 4 written on its four equal sections.
Each spinner is spun once.
Calculate the probability that the spinners will both show 3.
P(Baﬂcﬂ ....... Y A
e .- S «-L ....... - __f_ ..............................................................................................................................................
2 ¢“
(3]
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4-8m
Diagmﬁz not drawn to scale. -

XYZ i3 a right-angled triangle in which XV = 7 3mand ZY = 4-8 m.
Calculate the length of XZ.

o h= a .............. ﬁ—-%
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